S ER £ B I SE DL

2 TR EEE-LE T OBEF 1 A3 |

TS
WESERER(EE) BEERERGHE) HTEA 12[!'3{_. =

8,000 - - 250
7,000 - \, e © | o i s 95.00
] - - 200
6,000 290 o -
5,000 - 196 189 - 150
4,000 - 60
3,000 - = 00 | g
2,000 -
- 50
1,000 - 4,344 421 692 5244 .
0 . . 0 0 -
Fib Edbh ptEm Som S SED b Eibm kEm Eem ST Sem
Bl— 107FE HBERBEIRBER B 107F/"EMmERBER
BERER : ABERERE - |§¥5£5EJE : REERERE - .
\ A “’%"‘"ﬁ"—’»?‘ﬁ“i@% # 7 5;"T3-L-/r'"< A wr’y%ﬁ‘#
Jé /-'- -i l& azg __$\' % ‘f,i ’

Q) FmEAERs




MFFILT B EMIA

(53 —_— o T Y 2 (7 %
2400 - B (A E) R (A 1E)

- 120
1,900 - - 100
- 80

1,400 - BEY AR - 60
900 - - 40
LIV\/\/\’\/\-\JAI\/\W\,\,\/— 20

400 rrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrorT O

1004 1014 1014 1024 1024 1034 1034 1044 1044 1054 105 1064 1064 1074 1074 1084 1084
7B 1R 7R 1B 7R 1R 7R 1R 7R 1R 7R 1B 7R 1R 7B 1R 7H

® B2100&7% 3 108# 77 F AT %i"fs %frvl‘i‘z]"‘fl()lﬁ,l_l(Mﬁ
REFEFRFLEEBEFNRFTERA S F

%i ’gﬁ’*gti'r"ﬁi%‘“’%"i’&ﬁ R

FrEPLEAER L AL aE IR

$ #rBUE

e
£

=



i 44736 T &2 6

XRAEHR

=Pl 10,783 10,852 P
EIIE oo +
5,650 5881 5586
—0
3T o
= 2
sl 1360 / w
Eﬁ;ﬁ% (aYa) N1 10 1~ \ 1.4 A ya 2783
100 101 102 103 104 105 106 107 &
® 07T AT 5D f‘g;{ T4 i 1741 > ®w100#F 26,971 i S
52301 - v B R LEEHEE R T o

o HILPHAEER




